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Directions (Qs. 1 to 5): Some of the 

sentences have errors and some 

have non. Find out which part of a 

sentence (1), (2), (3) and (4) has an 

error. Mark that part as your answer. 

If there is no error, mark your answer 

(4). 

1. We had a lot of difficulty (1) to find 

(2)/ the house, (3) No error. (4) Marks 

2. Patience as well as perseverance (1)/ 

are necessary (2) for success. (3) No 

error. (4) 

3. The passer-by told us (1)/ where was 

the marriage hall (2)/ and even led us to 

it. (3)/ No error. (4)  

4. The increase in consumption is 

directly (1)/ proportional to the increase 

(2)/ in income. (3) No error (4) 

5. In Singapore (1) my brother-in-law 

with his wife (2) were present at the 

function. (3)/ No error. (4) Directions,  

(Qs. 6 to 15): In these questions sen- 

tences are given with blanks to be 

filled in with an appropriate word. 

Four alternatives are suggested for 

each question. Choose the correct 

alternative out of the four.  

6. A person who……. on his own 

effort has the best chance to win.  

1. Makes  2. Puts 

3. Relies   4. Runs  

7. When he died, Ramanujan .......... 

behind 3 notebooks. 

1. Was leaving  2. Had left 

3. Left   4. Leaves 

8. For all his......, he is a .........….... 

1. Wealth, miser  

2. Health, player 

3. Tricks, cheat  

4. Stupidity, fool  

9. In a classroom students are to be 

trained to love......  

1. Each other  2. All others  

3. One another 4. Altogether 

10. Mr. Obi put his whole 

life.................. the work.  

1. On    2. In 

3. Into    4. Upon 

11. All decisions, ……..are likely to be 

taken by consensus. 

1. Anyhow   2. Forever  

3. Somehow   4. However  

12. Kumar ..... boy swam across the 

sea for safety. 

1. A 17 years old  2. A 17 year old  

3. A 17 year aged 4. The 17 year old 
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13. She is beautiful............... brave.  

1. But    2. And  

3. yet   4. So 

14. Gandhiji will ......... in history as 

one of the greatest men, that ever 

lived."  

1. Go by  2. Go on 

3. Go down  4. Go through 

15. All the applicants....... and the 

results will be announced next week. 

1. Rank  2. Are to rank 

3. Are to be ranked   4. Are ranking 

Directions (Qs. 16 to 25): In these 

questions out of the four alternatives, 

choose the one which best expresses 

the meaning of the given word. 

16. SUCCESSIVE 

1. Rapid  2, Victorious 

3. Beneficent  4. Consecutive 

17. RAVAGE 

1. Destroy   2. Break 

3. Demolish   4. Abolish 

18. SUPERSTITIOUS 

1. Pious  2.Traditional 

3. Irrational  4. Sacred 

19. MENTOR 

1. Guide  2. Genius 

3. Stylist  4. Philosopher 

20.GARNISH 

1. Paint  2. Adorn 

3. Garner  4. Banish 

21. INFRUCTUOUS 

1. Meaningless  2. Unnecessary 

3. Redundant 4. Fruitless 

22. FIDELITY 

1. Affection  2. Allegiance 

3. Accuracy  4. Loyalty 

23. GRUFF 

1. Hard   2. Rough 

3. Tough  4. Sturdy 

24. DOLEFUL  

1. Mournful  2. Sober 

3. Regretful  4. Cheerless 

25. FATAL 

1. Terrible  2. Deadly 

3. Poisonous  4. Wrong 
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26.How many 9's are there in the 

following which are immediately 

following by 2 and also immediately 

preceded by 3? 

39243923939239293  

1.5 2.1 3.2 4.4 

27. Complete the given series 24, 31, 

38, ? 

1.51   2.52 

3.50   4.45 

28. If Wrist : Elbow:: Ankle: ? 

1. Hand   2. Feet  

3. Knee  4. Thigh 

29. 3, 8, 19, 42, 89, 184, ? 

1.376   2.377 

3.375   4.374 

30. some equations are solved on the 

basis of certain system . On the same 

basis find out the correct answer for 

the unsolved equation. 

4-5-1 =514, 3-5-6=563,0-6-8=? 

1.860   2.680 

3.806   4.068 

 

 

 

31. 

I. 25 15 40 8 

II. 65 25 90 ? 

III. 45 15 60 12 

 

1.6   2.12 

3.18   4.24  

32. In a row of students Ganesh is 7th 

from one extreme end and 11th from 

the other . Find the total number of 

students in the row. 

1. 17   2, 18 

3. 19   4.20 

Directions (33-37): Study the 

following information carefully to 

answer the given questions. 

Eight friends A, B, C, D, E, F, G and H 

are sitting around a circle facing the 

centre.  

A sits third to the left of B, and second to 

the right of F. D does not sit next to À or 

B. C and G always sit next to each 

other. H never sits next to D and C does 

not sit next to B. 

33. Which of the following pairs sits 

between H and E? 

1. F, D   2. H, B  

3. G, C   4. E, G 

http://www.freshersnow.com/


 TS Police Constable Preliminary Exam 2022  
   MODEL PAPER 3   

 
 

www.freshersnow.com                                                                                                                                  
 

34. Starting from A's position, if all 

the eight friends are arranged in 

alphabetical order in clockwise 

direction seating positions of how 

many members excluding A. do not 

change? 

1. None  2. One 

3. Two  4. Three 

35. Which of the following pairs has 

only one per son sitting between 

them, if the counting is done in 

clockwise direction? 

1. A, B   2. C, D 

3. F, E   4. G, H 

36. Who sits on the immediate right of E?  

1. A    2. D  

3. F   4. H 

37. What is the position of B with 

repeat to C ? 

1. Second to the right  

2. Third to the right 

3. Third to the left 

4. Can't determined 

Directions (38-40): In each of these 

Questions two statements followed 

by two conclusions I and II have been 

given. You have to take the given 

statements to be true. If they seem to 

be at variance with commonly known 

facts and then decide which of the 

given conclusions logically follows. 

Give answer 

1. if conclusions I follows  

2. if conclusions II follow 

3. if neither conclusions I nor II follows  

4. if both conclusion I and II follow 

38. Statements: No tea is coffee 

        No sweet is tea 

Conclusions: 

  1. No coffee is sweat 

  II. All sweets are coffee 

39. Statements: All medals are awards 

  All rewards are medals  

Conclusions: 

  I. All rewards are awards 

  II. All awards are medals  

40. Statements: All bottles are mugs  

No cup is a mug 

Conclusions: I. No bottle is a cup 

 II. At least some mugs are bottles: 
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41. If 24 x 2 = 84, and 32 x 3 = 69, 13 x 

3 = 93 then 14×4 =?  

1.56   2.72 

3.65   4.441 

42. If 1, February 1960 be 

Wednesday, then March 31, 1960 will 

be 

1. Saturday   2. Friday  

3. Sunday   4. Monday 

43. If the 1st day of a year falls as 

Sunday, the 1st day of the following 

year will fall on: 

1. Saturday   2. Friday 

3. Monday  4. Tuesday 

44. In these question a word has 

been given followed by four other 

words, one of which cannot be 

formed by using the letters of the 

given word. 

Find out that word. 

LIBERATIONIST 

1. LIBERAL 

2. RELATION 

3. SERIAL  

4. BITTERN 

45. Gopi said pointing to Ramu "his 

father is my father's only son". How 

is Gopi related to Ramu? 

1. Grand father 2. Grandson 

3. Son   4. Father 

46. Find the wrong number in the 

given series:  

462, 422, 380, 342, 306  

1.422    2.380 

3.342   4.306 

47. a-ab-baa-bb 

1. abab   2 aabb  

3. bbaa   4. baba 

48. Which of the following venn 

diagram gives the relationship 

between friend, Guide and 

philosopher. 

 

49. 8:81:64: ? 

1. 1525  2. 125  

3. 137   4.625  
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50. Which number will complete the 

following series 

6,11, 21, 36, 56, ? 

1.51    2.91  

3.42    4 81 

51. A motor car does a journey in 10 

hours. First half at 21 kmph and the 

next half at 24 kmph. Find the total 

distance ? 

1.240 km   2. 224 km  

3. 200 km   4.250 km 

52. The ages of x and y are in the 

ratio 3: 1. Fifteen years hence, the 

ratio will be 2:1. The present age (in 

years) are : 

1.30, 10   2. 45, 15  

3.21,7   4. 60, 20  

53. The average of five consecutive 

even numbers starting with 2 is  

1.4    2.6  

3.6   4.7 

54. 

  

1.6400  2. 1/6400 

3.1/3200  4. 3200 

55. Evaluate √15625 ? 

1.115   2.125 

3. 135   4.155 

56. The value of 3
𝟏𝟎

𝟏𝟏
+5

𝟕

𝟏𝟓
-2

𝟗

𝟐𝟐
+4

𝟗

𝟏𝟎
 ? 

1. 11
𝟏𝟒

𝟏𝟓
  2. 12

𝟏

𝟏𝟓
 

3.12
𝟐

𝟏𝟓
           4. None of the above  

57. If 30% of a certain number is 12.6, 

then find the number 

1.42    2. 36  

3.54   4. none  

58. By how much is 
𝟑

𝟓
th of 75 smaller 

than 
𝟒

𝟕
 of 77? 

1.0    2.5 

3.1   4. none of these 

59. The sum of two numbers is 22 

and their difference is 14. Find the 

product of numbers.  

1, 72   2.82 

3.62    4.27  

60. What should come in place of 

both the question marks (?) in the 

following equation. 

 
𝟏𝟔

?
 = 

?

𝟒𝟐.𝟐𝟓
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1. 2.6   2. 260 

3.26   4. 0.26 

61. If a shirt cost rs.64; after 20% 

discount is allowed, what was its 

original price in ? 

1. 76.80   2.80 

3. 88    4. 86.80 

62. The diameter of a circular wheel 

is 7m. How many revolutions will it 

make in travelling 22 km? 

1. 100   2.400 

3.500   4.1000 

63.

 

64. 2.75x2.75x2.75 +1.25x1.25x1.25  

       2.75x2.75-2.75x2.75+1.25x1.25 

 

1.1   2.1.5 

3.4   4.3 

65. log√7/log 7 = ? 

1. 1   2.1/2 

3.2   4.1/√7 

66. Find the product of two numbers 

whose L.C.M is 30 and H.C.F is 9. 

1.290   2.280 

3.300   4. 270 

67. Simplify (1/9)÷(1/9)÷(1/9)÷(1/9) 

÷(1/9) equal to 

1.729   2.841 

3.512   4.343 

68. If (a+b) = 6 and ab = 8, then (a3+b3) 

is 

1. 216   2. 108  

3. 144    4.72 

69. The price of a television including 

GST is Rs.14,000. If the rate of GST is 

12%, what is the original price of 

television? (in Rs.) 

1. 12500   2. 12000  

3. 11500  4. 11000 

70. Simplify √(0.01+(√0.0225)) 

1.16   2. 0.4 

3.4   4. 0.04 

71. Simplify √19.36+√7744÷2 = ?  

1.8.2   2. 8.6  

3. 8.8    4. 8.4 
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72. If A:B=2:3 and B:C=4:5 then C:A 

will be equal to  

1. 15:8  2. 12:10  

3. 5:6   4. 8:15 

73. Two circular cylinders of equal 

volumes have their heights in the 

ratio 3:2. The ratio of their radii is 

1. 1: √2   2. √2:√3  

3. √3:2   4. √3:1 

74. G.C.D of 1.08, 0.36 and 0.9 is 

1.0.18   2.0.108  

3.0.3   4. 0.9 

75. What is the square root of 49% ? 

1.0.7   2. 7.0% 

3.70%   4. Undefined 

76. Consider the following 

statements:  

A. Objects appear "weightless" inside an 

orbiting spacecraft 

B. Objects in circular motion experience 

centripetal force  

Which of the following statements 

is/are correct? 

1. Neither A nor B 

2. Both A and B 

3. Only A 

4. Only B  

77. A little ether on the palm gives a 

cooling sensation because ether 

1. Is a cold liquid  

2. Evaporates 

3. Enters the pores of the skin  

4. Condenses on the palm 

78. The surface of water in a pond 

remains cool even on a hot day 

because 

A. Water evaporates at the surface and 

evaporation causes cooling  

B. The heat absorbed at the surface is 

downwards transmitted 

C. Water in contact with the bottom of 

the pond becomes cool and rises to the 

surface due to convention 

Which of the above statements is/are 

correct? 

1. Only A   2. Only C 

3. A and C  4. A, B and C  

79. An object weight the maximum in: 

1. Air   2. Water  

3. Hydrogen  4. Vaccum 
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80. For a simple pendulum is simple 

harmonic motion, which of the 

following statements is are correct? 

A. The kinetic energy is maximum at the 

mean position 

B. The potential energy is maximum at 

the mean position  

C. Acceleration is maximum at the mean 

position 

1. A only   

2. B only 

3. A and C only  

4. B and C only 

81. The normal temperature of the 

human body is 

1. 280 kelvins  2.290 kelvins  

3.300 kelvins  4. 310 kelvins 

82. Decibel is the unit of physical 

quantity used for  

1. the speed of light 

2. the intensity of heat 

3. the intensity of sound  

4. the frequency of radio waves 

 

 

83. Consider the following 

statements: Chlorofluorocarbons, 

known as Ozone depleting 

substances, are used 

A. in the production of plastic foams 

B. in the production of tubeless tyres 

C. in cleaning certain electronic 

components  

D. as pressurizing agents in aerosol 

cans 

Which of the statements given above 

is/are correct? 

1. A, B and C only  2. D only 

3. A, C and D only      4. A, B, C and D 

84. Consider the following 

statements:  

A. Diamond is hard and graphite is soft 

B. Diamond is soft and graphite is hard  

C. Diamond is a bad conductor but 

graphite is a good conductor 

D. Diamond is a good conductor but 

graphite bad conductor 

Which of the statements given above 

correct? 

1. A and C only  2. A only 

3. B and C only       4. A and D only 
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85. The substance that can be used 

as a hypnotic in 

1. Barbituric acid      2. Tartaric acid  

3. Ethyl Benzoate     4. Methyl Palmitate 

86. Which of the following pairs are 

correctly matched? 

A. Volcano -Lava 

B. Igneous rock-Granite. 

C. Sedimentary rock-Sandstone  

D. Metamorphic rock-Marble 

Select the correct answer using the 

codes given below.  

1. None of the above 

2. All of the above 

3. B and D only  

4. A and C only  

87. Which one of the following cannot 

exhibit isomerism?  

1. C3H8   2. C4H10  

3. C5H12    4. C8H18 

88. Permanent dyes which dye hair 

black are derivatives of  

1. Phenylenediamine 

2. P-Phenylenediaminesulphonic acid 

3. Aniline  

4. N, N-Dimethylaniline 

89. Which of the following are 

present in a packet of synthetic 

detergent? 

A. Bleaching agent 

B. Sodium sulphate  

C. Inorganic phosphates  

D. Potassium chloride 

Select the correct answer using the 

codes given below. 

1. A and B   2. B and C 

3. A, B and D  4. A, B and C 

90. Match the following: 

A. Ornithology   1. Study of    reptiles &  

amphibians 

B. Herpetology   2. Study of insects 

C. Helminthology  3. Study of birds 

D. Entomology   4. Study of Parasitic  

    worms 

E. Ichthyology  5. Study of fishes 

The correct order is: 

1. A-1, B-2, C-3, D-4, E-5  

2. A-2, B-3, C-1, D-5, E-4  

3. A-3, B-1, C-4, D-2, E-5  

4. A-5, B-3, C-2, D-4, E-1 
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91. Which of the a hormones initiates 

the "fight or flight" response?  

1. Epinephrine or non-epinephrine  

2. Growth Hormone 

3. Thyroid Stimulating Hormone  

4. Cortisol 

92. A disease is sometimes spread by 

a vector. Some diseases and their 

vector pairs are given below: 

A. Malaria - Tsetse fly  

B. Sleeping sickness - Sand fly 

C. Kala-azar - Aedes mosquito 

D. Dengue fever - Female Anopheles 

mosquito  

Which of the above pair/s is/are 

matched correctly? 

1. None of the above 

2. All of the above  

3. A, B and D only 

4. B, C and D only 

93. Who invented the Doctor's 

thermometer? 

1. Fahrenheit  2. Edison 

3. Galileo  4. None of these 

 

94. Which gland in the human body is 

called Master Gland? 

1. Pituitary Gland       2. Bulbourethral Gland 

3. Thyroid Gland    4. Lever 

95. Embryo is found in  

1. flowers  2. leaves 

3. seeds  4. Buds 

96. IRS series satellites are intended 

for:  

1 Space Exploration 

2. Telecommunication 

3. Navigational Services  

4. Remote Sensing 

97. India's first Radar Imaging 

Satellite: 

1. Resource Sat-2       2. RISAT 

3. Ocean Sat      4. Carto Sat 

98. Identify the Isotope which is 

useful in curing of cancer.  

A. Radio Cobald 

B. Radium Cenium 

C. Radio Iridium 

1. Only A and B 2. Only B and C 

3. Only A and C 4. A, B and C  
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99. Deuterium Oxide is used as a 

1. Controller           2. Sheilding element 

3. Neutron Poison   4. Coolant  

100. Which of the following is not a 

surface to surface missile.  

1. Prahar  2. Barak 

3. Prithvi  4. Shourya 

101. Match List-I with List-II and 

select the correct answer using the 

codes given below. 

List-I    List-II 

A. Kalibangan     1.Y.D.sharma 

B. Ropar       2. R.S.Bist 

C. Lothal        3. A.Ghosh 

D. Surkotada   4. S.R.Rao 

E. Banwali   5. Jagapati  

   Joshi 

1. A-1, B-3, C-4, D-2, E-5 

2. A-3, B-1, C-4, D-5, E-2 

3. A-1, B-2, C-3, D-4, E-5 

4. A-4, B-5, C-2, D-1, E-3 

102. Which of the following was the 

the greatest invention of man of 

palaeolithic Age? 

1. Fire    2. Potter's wheel 

3. Brick making       4. Spinning of cloth  

103. Which one of the following 

contains the Gayatri Mantra? 

1. Samaveda  2. Rigveda 

3. Yajurveda  4. Atharva veda 

104. Consider the following 

statements: 

A. Parshvanatha preached the Jain 

ideas of Satya, Ahimsa, Asateya and 

Aparigraha 

B. Mahavira introduced Brahmacharya  

C. Mahavira's teachings were first 

collected in the third century B.C 

Which of these statements are 

correct? 

1. A and B only 2. A and C only  

3. B and C only 4. A, B and C 

105. Which of the following ancient 

Mahajanapadas was located on the 

bank of Yamuna? 

1. Anga  2. Avanti 

3. Matsya   4. Vatsa 

106. Consider the following with 

reference to the disintegration and 

decline of the Mauryan Empire: 

A. Brahmanical revolt  

B. King Ashoka's pacifist policies 
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C. Invasion from outside  

D. Weakness of Ashoka's successors 

Which of the above reasons led to 

the disintegration and decline of the 

Mauryan Empire: 

1. A, B and D only  

2. B and D only  

3. A and C only 

4. A, B, C and D 

107. Who wrote Ashtadhyayi? 

1. Katyayana  2. Jayadeva 

3. Panini  4. Bharatha 

108. Match the following: 

A. India   1. Megasthenes  

B. Mudrarakshasa 2. Vishakhadatta 

C. Arthashastra  3. Kautilya 

D. Ratnavali  4. Harshavardhana 

1. A-1, B-2, C-3, D-4  

2. A-4, B-3, C-2, D-1 

3. A-2, B-1, C-4, D-3 

4. A-4, B-3, C-1, D-2 

 

 

109. Which of the following sets of 

historical persons is not correctly 

matched? 

1. Chandragupta Maurya -    

   Megasthenese 

2. Harshavardhana - Hieun Tsang 

3. Deva Rayal - Nicolo Conti 

4. Ashoka - Marco Pole  

110. Timur in aded India during the 

reign of: 

1. Alauddin Khilji 

2. Bahlol Lodi 

3. Firoz Tughlaq 

4. Nasiruddin Muhmmad  

111. Alberuni came to India with: 

1. Muhmmad Ghazni 

2. Alexander 

3. Babur 

4. Timur 

112. In which order did the following 

dynasties rule Delhi? 

A. Slave        B. Khilji       C. Lodi  

 D. Sayyid E. Tughlaq 

1. A, B, E, D, C 

2. A, B, C, D, E  
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4. B, C, D, E, A 

3. A, D, C, B, E  

113. Which of the following persons 

is/are wrongly matched with the 

language in which they wrote? 

A. Sankardeva - Assamese 

B. Vidyapati - Bengali 

C. Namadeva - Marathi 

D. Chandidas - Bengali 

1. Only C  2. Only A 

3. B and D   4. C and D 

114. The medival Indian writer who 

refer to the discovery of America is: 

1. Malik Muhmmad Jayasi  

2. Amir Khusrau 

3. Raskhan 

4. Abul Fazal 

115. Match the following:  

Mughal Emperors -   Real name   

A. Babar        1. Khurram 

B. Jahangir       2. Farid Khan  

C. Shajahan        3. Zahiruddin Muhmmad 

D. Sher Shah       4. Salim 

1. A-3, B-4, C-1, D-2  

2. A-4, B-3, C-2, D-1 

3. A-1, B-2, C-3, D-4 

4. A-3, B-1, C4, D-2  

116 Black Hole episode in which 146 

English prisoners were confined in a 

very small room and only 23 

survived, occurred during the regime 

of  

1. Shaja-ud-daula 

2. Alivardi Khan  

3. Siraj-ud-daula 

4. Mir Qasim 

117. Who among the following 

Governor-Generals formed the Triple 

Alliance against Tipu Sultan? 

1. Warren Hastings 

2. Lord Cornwallis 

3. Lord Wellesley  

 4. Lord William Bentinck 

118. Which of the following 

statements about Theosophical 

Society are correct? 

A. Its founders were non-Indians  

B. Its advocates were in favour of the 

revival of Hinduism 
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C. It advocated for the adoption of 

rational and scientific approach based 

on western ideas 

D. It helped people to overcome the 

sense of false  

Select the correct answer using the 

code given below: 

1. A, B and C only 

2. B, C and D only 

3. A, C and D only 

4. A and B only 

119. 'Mahatma' was added before 

Gandhiji's name during: 

1. Champaran Satyagraha  

2. Rowlatt Satyagraha 

3. Amritsar session of INC in 1919 

4. Initial stages of Khilafat movement 

120. Which one of the following 

indicates the correct chronological 

order of the given events? 

1. August Offer - Cripps Mission - 

Shimla - Conference - Cabinet Mission 

Plan  

2. Shimla Conference - Cripps Mission - 

August - Offer Cabinet Mission Plan  

3. August Offer Shimla Conference - 

Cripps Mission - Cabinet Mission Plan 

4. Cripps Mission - Shimla Conference - 

August Offer Cabinet Mission Plan 

121. The title "Punjab Kesari" was 

conferred on:  

1. Ranjit Singh 

2. Bhagat Singh 

3. Lala Lajpat Rai  

4. Sardar Baldev Singh 

122. What was the immediate reason 

for the congress ministries in the 

provinces to resign in October-

November 1939? 

1. The joining of the War by government 

of India without consulting the National 

Congress or the elected members of the 

central legislature 

2. The refusal of British Government to 

meet the demand of the Congress to 

declare the war aims and treat India as 

a free nation  

3. In protest against undue interference 

from the in legislature matters  

4. Non - Cooperative attitude of the 

muslim league  

123. Who among the following 

lawyers gave up the practice of law 

when the Non-cooperation movement 

was launched? 

A. Asaf Ali  
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B. C.Rajagopalachari 

C. Saifuddhin Kitchlew  

D. T.Prakasam 

Select the correct answer using the 

codes. given below. 

1. A and B only 

2. A, B and C only 

3. C and D only  

4. A, B, C and D 

124. Who among the following is also 

venerated as 'Second Buddha'?  

1. Padmasambhava 

2. Avalokitevara  

3. Maitreya  

4. Mahasthamaprapta 

125. Who among the following Sikh 

Guru declared that Guru Granth 

Sahib will be the holy scripture of 

Sikkhism and will be the Permanent 

Guru of Sikhs?  

1. Guru Govind Singh 

2. Guru Arjun Dev 

3. Guru Tej Bahadur  

4. None of them  

 

126. Which of the following is a trans-

Himalayan river? 

1. Ganga  2. Yamuna 

3. Sutlej  4. Ravi 

127. Which of the following rivers lies 

in a rift valley?  

1. Luni  2. Chambal  

3. Son   4. Tapi 

128. The Jog Fails are situated on the 

1. Tapi river   2. Sharavathi river 

3. Cauvery river 4. Bhima river 

129. India's latitudinal and 

longitudinal extent measured in 

degrees are almost the same, but its 

north-south extent measured in km is 

greater than its east-west extent. This 

is due to the fact that 

1. Longitudes are not parallel lines 

2. The distance between latitudes 

remains the same but the distance 

between longitudes is greatest at the 

equator and nil at the poles where all 

longitudes join 

3. All longitudes with their opposites 

form great circles 

4. The earth is not a perfect sphere  
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130. The Indian States which have 

common borders with Pakistan are 

1. Gujarat, Himachal Pradesh, Haryana 

and Jammu & Kashmir 

2. Gujarat, Jammu & Kashmir, Punjab 

and Rajasthan, 

3. Jammu & Kashmir, Haryana, 

Rajasthan and Punjab  

4. Jammu & Kashmir, Himachal 

Pradesh, Punjab and Rajasthan 

131. The sun rises in Arunachal 

Pradesh two hours before it does in 

Dwaraka in Gujarat. This is because 

the former is  

1. Higher in elevation than Dwaraka 

2 Situated further north than Dwaraka 

3. Situated further east (about 30o 

longitude) than Dwaraka 

4 Situated about 30o east of Dwaraka 

and the earth rotates from west to east  

132. What is the most important 

geographic use of the Himalayas to 

India?  

1. Prevention of invasions 

2. Valuable source of timber 

3. They prevent the monsoons from 

crossing to the north and also serve as 

a reservoir of water from which our 

perennial rivers flow 

4 They protect India from the icy cold 

north winds  

133. The main difference between the 

Eastern Ghats and the Western Ghats 

is the matter of 

1. Continuity 

2. Proximity of coast 

3. Ending in nilgiris  

4. Height 

134. Match the following: 

List-I     List-II 

A. Kumaon Himalayas  1. Between the 

     Indus and the 

     Sutlej 

B. Nepal Himalayas   2 Between the  

    Kali and the 

     Teesta 

C. Punjab Himalayas  3. Between the 

 Teesta and the 

  Brahmaputra 

D. Assam Himalayas   4. Between the 

 Sutlej and the  

 Kali 

1. A-1, B-2, C-3, D-4 

2. A-2, B-3, C-1, D-4 

3. A-4, B-2, C-3, D-1  

4. A-4, B-2, C-1, D-3  
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135. According to indian Economic 

Survey the share of Agriculture in 

employment was? 

1.60 percent  2. 56 percent 

 3.50 percent  4. 48.9 percent 

136. Match the following types of soil 

and regions where they are found in 

India: 

List-I   List-II 

A. Alluvial Soils      1. Highland areas of the  

Plateau 

B. Black Soils         2 Periphery of the Plateau 

C. Red Soils         3. Deccan Lava Tracts 

D. Laterite Soils       4. River Basins and     

Coastal Plains 

 

1. A-4, B-3, C-1, D-2  

2.A-4, B-2, C-3, D-1 

3. A-1, B-2, C-3, D4 

4. A-4, B3, C-2, D-1 

137. Vande Bharat mission was 

launched in year of? 

1. 2019  2.2020 

3. 2018   4.2021  

 

138. The Union or India consists of 

States and Union Territories. 

1. 22:8   2. 29:7 

3. 28:9  4. 21:8 

139. The first Governor General of 

free India was 

1. C Rajagopalachari  

2. Lord Mountbatten  

3. Lord Wavell 

4. Lord Linlithgow 

140. To which State in India goes the 

credit of having been ruled by the 

world's first democratically elected 

Communist Government? 

1. West Bengal       2. Kerala 

3. Jammu and Kashmir    4. Goa 

141. The Advocate General will hold 

office during the pleasure of the 

1. Governor 

2. Chief Minister  

3. President 

4. Chief Justice of the State High Court 
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142. Which one of the following 

determines that the Indian 

Constitution is federal? 

1. A written and rigid Constitution  

2. An independent judiciary 

3. Vesting of residuary powers with the 

Centre  

4. Distribution of powers between the 

Centre and the States  

143. Dr. Ambedkar had said the 

"Article I should normally remain a 

'dead letter' and would be used only 

in the last resort'. 

1.352.   2.355 

3.356   4.357 

144.The first Law Officer of the 

Government of India is the 

1. Chief Justice of the Supreme Court 

2. Attorney General for India 

3. Secretary, Minister of Law  

4. Union Law Minister 

145. Which one of the following is not 

true about the functions of the 

Attorney General? 

1. He will have the right to speak in the 

House of Parliament  

2. He will have the right to vote in 

Parliament 

3. He will have a right of audience in all 

courts in India  

4. He is the first Law Officer of the 

Government of India 

146. There shall be a President of 

India according to Article 

1.50   2.51  

3. 52   4. 53 

147. There shall be a Vice-President 

of India according to Article 

1.63    2.64 

3.54   4.57 

148. Take off stage' in an economy 

means: 

1. Economy is stagnant  

2. Steady growth begins 

3. Economy is about to collapse  

4. All controls are removed 

149. One-rupee currency notes bear 

the signature of: 

1. Prime Minister of India 

2. Finance Minister of India 

3. President of India 

4. Finance Secretary of India  
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150. Which of the following taxes is 

not levied by the Union Government?  

1. Profession Tax 2. Income Tax 

3. Wealth Tax 4. Excise Duty 

151. NITT Aayog has been set up on 

1st Jan 2015 Replacing of? 

1. Finance commission 2. NDC 

3. 1 & 2 4. Planing commission  

152. Consider the following 

statements with respect to Regional 

Rural Banks(RRBs):  

A. Regional Rural Banks came into 

existence on Gandhi Jayanti in 1975 

with the formation of a Prathama 

Grameen Bank. The rural banks had the 

legislative backing of the "Regional 

Rural Banks Act 1976  

B. The RRBs were owned by three 

entities with their respective shares as 

follows: Central Government 50%; State 

government 15%; Sponsor bank 35%. 

Which of the statements given above 

is/are correct?  

1. A only  2. B only 

3. Both A and B     4. Neither A nor B 

153.  Who is called the 'Father of 

Economics'? 

1. Max Muller  2. None of these  

3. Adam Smith 4. Karl Marx 

154 How do we define with regard to 

the terms bull and bear stock 

markets?  

1. There is nothing significantly different 

as both operate in the capital market 

2. A bull is ready to buy any share; a 

bear only deals in government securities 

3. A bull is an optimistic operator who 

first buys and then sells shares in 

expectation of the price going up; a bear 

is a pessimistic market opera tor who 

sells the shares in expectation of buying 

them back at a lower price 

4. Bull is one who first sells a share and 

then buys it at a lower price; bear 

means one who first buys and then sells 

it in expectation of prices going up 

155. Which state gove permission 

most number of SEZ's so far?  

1. Andra Pradesh 2. Maharastra 

3. Gujarath  4. Telangana 

156. India is said to be in the second 

stage of the demographic transition 

because: 

1. Death rates and birth rates are 

declining sharply  

2. None of the above 
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3. Birth rate is high but -death rate is 

declining due to improvement in healthy 

services  

4. Both birth and death rates are high 

157. Inflation is caused as a result of: 

1. Fall in production 

2. Increase in money supply  

3. Increase in money supply without a 

corresponding increase in production 

4. Decrease in money supply without a 

corresponding decrease in production  

158. The basic objectives of Indian 

planning are: 

I. Economic growth  

II. Self-reliance 

III Employment generation  

IV. Population growth 

1. I, II and IV 

2 1, II and III 

3. 1, II, III and IV  

4. II and III  

159. India opted for 'Mixed Economy' 

in: 

1. Industrial Policy of 1948  

2. Second Five Year Plant 

3. None of the above 

4. Framing of the Constitution  

160. Consider the following 

statements: 

A. The National Housing Bank, the apex 

institution in housing finance in India, 

was set up as a wholly owned 

subsidiary of the Reserve Bank of India 

B. The Small Industries Development 

Bank of India was established as a 

wholly owned subsidiary of the Industrial 

Development Bank of India 

Which of the statements given above 

is/are correct? 

1. Both A and B  2. B only 

3. A only  4. Neither A nor B 

161. Which Indian personality has 

been conferred with the Eni Award 

2020? 

1 CNR Rao    2. Narendra Modi  

3. Raghuram Rajan    4. Virat Kohli 

162. The Annual Report of the 

Reserve Bank of India for 2020-21 

covers how many months of RBI's 

operations? 

1.6   2.9 

3.11   4.12 
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163. Who authored the book "The 

Very Hungry Caterpillar"? 

1 Rowan Atkinson 

2. Eric Carle  

3. JK Rowling  

4. Salman Rushdie 

164. Prevention of Anti-Social 

Activities Act (PAS1., which was in 

the news recently, is set to be 

introduced in which Indian UT? 

1. Andaman & Nicobar Islands  

2. Lakshadweep 

3. Chandigarh 

4. Puducherry 

165. Which Indian economist has 

been conferred with Spain's top 

Princess of Asturias Award? 

1. Amartya Sen   

2. Urjit Patel 

3. Manmohan Singh   

4. Arvind Subramanian. 

166. Tsang Yin-hung, who became 

the world's fastest woman to scale 

the Mount Everest, belongs to which 

country?  

1. China   2. Hong Kong 

3. Vietnam  4. Japan 

167. Subodh Kumar Jaiswal, who was 

in the news recently, is the newly 

appointed Director of which 

organisation? 

1. CVC   2. CIC 

3. CBI   4. NITI Aayog 

168. African violets, an endangered 

Africa-native flowering plant, has 

been recorded for the first time in 

which Indian state? 

1. Kerala  2. Goa  

3. Mizoram  4. Sikkim 

169. Who has been appointed as the 

Chief executive officer of Reserve 

Bank Innovation Hub (RBIH)? 

1. R Gandhi  2. Rajesh Bansal 

3. Nandan Nilekani 4. Urjit Pate 

170, Which country has announced 

to launch the "International Pathogen 

Surveillance Network" to identify 

COVID-19 variants? 

1. USA  2. UK 

3. India  4. Germany 

171. Estimated share of service 

sector in the GDP by 2020 according 

to Indian vision 2020? 

1.56%   2. 60%  
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3.69%   4. 70% 

172. Which of the following is currect 

if we only achive two out of three 

pillars of sustainable development?  

1. Social & Economic sustainabulity = 

Equitable 

2. Social & Enviranmental sustainabulity 

= Equitable  

3. 1&2 

4. All the above 

173. The share of farestry in the year 

2020-21 in current prices? 

1. 0.39%   2.2.3%  

3.0.32%   4.0.63% 

174. Among the following which 

Kingdom was mentioned in both 

Itihasa and Puranas? 

1. Kalinga Kingdom 

2. Sabara Kingdom 

3. Asmak Kingdom  

4. Mahishmati Kingdom  

175. Among the following in whose 

reign the most number of Hindu 

temples were constructed? 

1. Vasishtiputra Santamula-I 

2. Veerapurusha Datta 

3. Ehubala Santamula 

 4. Rudrapurusha Datta  

176.'Harivijayam' (the story of 

paarijaataapaharanam) written by: 

1. Pravarasena-II 

2. Prithvisena 

3. Harisena 

4. Sarvasena 

177. Among the following places 

where Buddhist ruins were not found  

1. Hanumakonda 

2. Vardhamanukota 

3. Chaitanyapuri 

 4. Tirumalagiri 

178. Among the following which was 

the first book of grammar written in 

Sanskrit in the Telangana region. 

1. Abhinaya Shankuntala 

2. Mahaparinayam 

3. Janasraya Chandovichithi  

4. None of the above 

179. Among the following which 

statement is incorrect?  

1. Prataparudra-II strengthened the 

"Nayankara System" (77 members) 

formed by Ganapatideva 
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2. There was a famous artist (painter) 

called Machaladevi during 

Prataparudra-I reign  

3. The Hanumakonda inscription was 

written by 'Achitendra' 

4. Ganapathideva completed the 

construction of Orugallu fort, started by 

Rudradeva  

180. Who changed his capital from 

Amanagallu to Rachakonda in 

Padmanayaka Dynasty 

1. Singama Nayaka-I 

2. Anavotha Nayaka 

3. Singama Nayaka-II 

4. Madanayaka 

181. Who was father of Prolaya 

Nayaka? 

1. Kapaya Nayaka 

2. Pothi Nayaka 

3. Vinayaka Nayaka  

4. Padma Nayaka  

182. Kshetrayya wrote his famous 

"Movvapadalu" during the reign of: 

1. Sultan Mohammed Qutub Shah 

2. Ibrahim Qutub Shah 

3. Abul Hasan 

4. Abdullah Qutub Shah 

183.Among the following which 

society was formed for the 

awareness of Arundhatteeya 

community 

1. Jambavarna Sevasamiti 

2. Manya Sangam 

3. Adi Hindu Social League 

4. Adi Dravida Society 

184.Among the following which 

resolution passed in the first Andhra 

Maha Sabha (1930)? 

1. The Nizam government should 

abolish the Gasti Nishan-53 which 

hinders the freedom of speech and 

freedom of holding meeting of people  

2. At least 10 persons of every 100 

population should be given right to vote 

3. The Assembly should be given the 

right to pass the annual budjet 

4. All of the above 

185. Who was Prime Minister of 

Hyderabad State suggested that the 

Nizam government should form a 

responsible government and hold 

friendly relations with the 

independent Indian government.  

1. Chathari Nawab 2. Mirza Ismail 

3. Mir Layak Ali 4. Kishan Prasad 
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186. What is the share of Industrial 

sector in the GSDP/GVA of Telangana 

state 

1. 25%   2.26% 

3.24%    4.27% 

187. Match the following. 

A. Deccan Button Factory 1. 1916 

B. Deccan Glass Factory 2. 1927 

C. Nizam Sugar Factory  3. 1937 

D. Hyderabad Allwyn Metals  4. 1942 

E. Golkonda Cigarette Factory  5. 1941 

1. A-1, B-2, C-3, D-4, E-5  

2. A-2, B-1, C-4, D-3, E-5  

3. A-5, B-4, C-3, D-2, E-1  

4. A-5, B-3, C-4, D-1, E-2 

188. Match the following:  

A. Vandanaalu Prajalamanishi Vattikota 

Alwaaroo!       

B. Aadapillanammaa nenu aadapillanaani  

C. Oka Puvvu Oka navvu  

Vuyaalaloogena    

D. Veerulaaraa Vandanam Vidyarthi. 

 

1.Daruvu Yellanna. 

2. Nandini Sidha Reddy  

3. Y.Venkanna 

4.Desapati Sreenivas 

1. A-1, B-2, C-3, D-4 

2. A-4, B-3, C-2, D-1  

3. A-4, B-1, C-2, D-3 

4. A-3, B-4, C-1, D-2 

189. Choose incorrect pair among the 

following. 

1. Eid-Ul-Fitr – Ramzan. 

2. Eid-Ul-Adha – Bakrid. 

3. Eid-Milade-Ali - Birthday of 

Mohammad Ali. 

4. Milad-Un-Nabi - Birthday of 

Mohammad. 

190. Among the following who 

yielded to the pressure of the Non-

mulkis and changed the official 

language from Persian to Urdu.  

1. Salarjung-I     2. Salarjung-II 

3. Salarjung-III   4. Hyder Ali  

191. The ban on the Communists was 

lifted by the Nizam Government on:  

1. 4th May 1948 

2. 4th July 1946 

3. 9th May 1947 

4. 9th July 1946 
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192.Match the following.  

A. Dhar Commission 1. 18th December 1948 

B. JVP Commission 2. 17th June, 1948 

C.SRC Commission 3. 7th December 1949 

 

D. Madras Division Committee  

4. 29th December 1953 

1. A-1, B-2, C-3, D-4 

2. A-2, B-1, C-4, D-3 

3 A-4, B-3, C-2, D-1 

4. A-3, B-4, C-1, D-2 

193. Match the following. 

A. PART -A  

b. PART -B 

c. PART -C 

d. PART -D 

1.andaman and nicobar 

2.ajmer 

3.tranvancore 

4.punjab 

1. a-1 b-2 c-3 d -4 

2. a-2 b-1 c-4 d-3 

3.a-3 b-4 c -1 d-2  

4.a-4 b-3 c-2 d-1 

194. Among the following who works 

on surk severa 

1.Makhoom mohinduddin 

2.T.N sadalashmi 

3.Easwareebai.j 

4.Sangam Lakshmibai 

195. When did T.R.S. Party organize 

Telangana Mahagarjana?  

1. 5 June 2003 

2. 9 January 2003 

3. 6 January 2003 

4. 4 January 2003 

196. Which programme was 

organized protesting the Supreme 

Court's verdict related to the police 

department? 

1. Vanta Varpu   2. Million March  

3. Jail Bharo   4. Rail Roko 

197.Telangana state's average actual 

rainfall in the year 2019-20 

1. 1032.8  2. 1022.1 

3. 1122.4  4.905.4 

198. Who among the following was 

not a member of Pranab Mukherjee 

Committee? 

1. Pranab Mukherjee 
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2. Chidambaram 

3. Raghuvansh Prasad Singh 

4. Dayanidhi Maran 

199. Who was appointed Chairman of 

the Group of Ministers? 

1. A.K.Antony 2. Veerappa Moily  

3. Ahmed Patel 4. Chidambaram 

200. Who converted Telangana Praja 

Samithi into a political party?  

1. K.V.Ranga Reddy 

2. Madan Mohan 

3. Mallikarjun 

4. Marri Chenna Reddy 
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